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BMW Serie 5 (F10) 4 10>13 1 X 7x40 49 3,4 2 2
BMW Serie 5 (F10) 4 13> 1 X 7x40 49 3,4 2 2
MERCEDES C (C205) Coupé 3 15> 2 X 8x50 6,4 6,7 1 3
MERCEDES C (W204) 4 07>13 2 X 8x50 11,9 9,7 1 2
MERCEDES C (W205) 4 14> 2 X 8x50 12,9 7,4 2 2
MERCEDES CLS (C219) 4 04>10 2 X 8x50 8,1 7 1 2
MERCEDES CLS (X218) Shooting Brake 5 12>14 2 X 8x50 8,7 5,2 1 2
MERCEDES E (W212) 4 09>13 2 X 8x50 6,1 2,9 1 2
MERCEDES E (W212) 4 13>16 2 X 8x50 6,1 2,9 1 2
MERCEDES E (W213) 4 16> 2 X 8x50 6,3 6,6 1 2
MERCEDES R (W251) 5 05>13 1 X 8x50 5,75 1,25 1 2




